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PART A (10 x 2 = 20)

Answer All questions

1. Evaluate 
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2. Prove that 
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3. Solve 
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4. Find the complete integral of z = px + qy + 
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5. If  f = 3x 2y – y 3z2, find grad f at the point (1,-2,-1) 

6. State Stoke’s theorem.

7. Find L [t sin2t]

8. Find L-1
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9. Find the number of integers less than 600 and prime to it.

10. Find the highest power of 2 in 10!
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PART B (5 x 8 = 40)

Answer any Five questions.

11.Evaluate 
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 over the region in the positive quadrant for which x+y = 1.

12. Prove that 
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13. Solve 
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x

u

¶

¶

¶

2

  = e-t cos x  given that u = 0 when t = 0 and 
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14. Solve z = p2 + q2
15. Find L 
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16. Find L-1
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17. (a) Prove that div 
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      (b) Prove that curl( 
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 EMBED Equation.3  [image: image17.wmf]A

 ) = (grad 
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 curl 
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18. If x and y are positive quantities whose sum is 4, Show that 
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PART C (2 x 20 = 40)

Answer any Two questions.

19. (a) Change the order of integration and evaluate 
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      (b) (i) Evaulate 
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          (ii)  Evaulate 
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                                                           (10 + 10) 
20. (a) Solve 3p2 – 2 q2 = 4pq
      (b) Solve (x2  + y2 +yz) p + (x2  + y2 – xz) q  = z (x + y )                (10 + 10)                                                                                   

21.(a) Solve 
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  – 5y = 5  given that y = 0 and 
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 = 0 when t = 0 using  

          Laplace transform.

    (b) Find the remainder when 1298941 is divided by 29.                    (15 +5 )  

22.(a) State and prove Wilson’s theorem.

(b).Verify Gauss divergence theorem for 
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 = (x2 – yz )
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      taken  over the rectangular parallelepiped 0 
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 c.  (10+10)
                                                 ----------------------------
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